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A cube of cast iron with sides of length 75mm is tested in a laboratory under

triaxial stress. Gages mounted on the specimen show that the compressive strains
are g, =-350x10"% and ¢, =&, =~65x10"5.
Please determine the following quantities: (1) the normal stress o,, o,, o,

actingonthe x, y,and z facesofthe cube. {2) The maximum shear stress in
L the material, (Assume E=96GPa v=0.25) (98 AMME—H)
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An aluminum alloy plate (F=70GPa, v=0.33) of dimensions a=300mm,
b=400 mm, and thickness #=10mm is subjected to biaxial siresses as shown
in Figure P2. Calculate the change in 1. the length of AB, 2.the volume of the
plate. (OSH AMEME —J - 96+ A WM )
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